

- Z_n, Z_{n+1}
- $m^{-1} \cdot 2$
- $1 \cdot 12$
- 11
- 2
- Z_n, Z_{n+1}
- $m^{-1} \cdot 21$
- 21
- Z_n
- Z_n
- Z_n
- 1
- 1
- Z_n
- 2
- 1
- 1
- 1
- Z_n
- 10
- n

$$N^{-1} N^{-1} y = A_1 A_2 \dots N^{-1} N^{-1} \dots N^{-1} \cdot A$$

$t, t, t, \dots, t, \dots, A, \dots, t, \dots, S, \dots$
 \bullet $\dots, \dots, Z_1 - \dots, \dots, \dots$

$t, t, t, \dots, t, \dots, A, \dots, t, \dots, S, \dots$
 \bullet $\dots, \dots, Z_1 Z_2 \dots N^{-1} \dots - Z_1 - Z_1 Z_2 \dots$
 \bullet $\dots, \dots, Z_1 \dots (A), \dots, \dots$
 \bullet $Z_1 \dots Z_2 \dots - \dots (A), \dots, \dots, Z_1 \dots$
 \bullet $- Z_1 A - Z_1 \dots (A), \dots, \dots - Z_1 Z_2 \dots$
 $Z_1 Z_2 \dots (A), \dots, \dots - Z_1 Z_2 \dots$
 $Z_1 \dots \dots (A)$

$D, \dots, t, \dots, A, \dots, t, \dots, S, \dots$
 $1. \dots, \dots, Z_1 \dots Z_2 \dots$
 $\dots, \dots, Z_1 \dots \dots, \dots, \dots, \dots$
 \dots, \dots

$\dots, \dots, \dots, \dots, \dots, \dots, Z_1 \dots A - Z_1 \dots$
 $Z_1 \dots Z_1 \dots \dots, \dots, \dots, \dots, \dots, \dots$
 $Z_1 \dots \dots, \dots, \dots, \dots, \dots, \dots, \dots$
 $\dots, \dots, Z_1 \dots A, \dots, \dots, \dots, \dots, \dots$
 $\dots, \dots, \dots, \dots, \dots, \dots, \dots, \dots, \dots$
 $\dots, \dots, Z_1 \dots A, \dots, \dots, \dots, \dots, \dots$
 $Z_1 \dots Z_1 \dots \dots, \dots, \dots, \dots, \dots, \dots$

$$Z_1 = \frac{1}{1+r} (A_1 + \frac{A_2}{1+r})$$

$$Z_2 = \frac{1}{(1+r)^2} (A_1 + \frac{A_2}{1+r} + \frac{A_3}{(1+r)^2})$$

$$Z_1 = \frac{1}{1+r} (A_1 + \frac{A_2}{1+r})$$

$$Z_2 = \frac{1}{(1+r)^2} (A_1 + \frac{A_2}{1+r} + \frac{A_3}{(1+r)^2})$$

$$Z_3 = \frac{1}{(1+r)^3} (A_1 + \frac{A_2}{1+r} + \frac{A_3}{(1+r)^2} + \frac{A_4}{(1+r)^3})$$

$$Z_1 = \frac{1}{1+r} (A_1 + \frac{A_2}{1+r})$$

$$Z_2 = \frac{1}{(1+r)^2} (A_1 + \frac{A_2}{1+r} + \frac{A_3}{(1+r)^2})$$

$$Z_3 = \frac{1}{(1+r)^3} (A_1 + \frac{A_2}{1+r} + \frac{A_3}{(1+r)^2} + \frac{A_4}{(1+r)^3})$$

$N = \{1, 2, \dots, n\}$ and $A = \{A_1, A_2, \dots, A_n\}$ where $A_i = \{j \in N : j \neq i\}$

Let $Z = \{z_1, z_2, \dots, z_n\}$ be a set of variables. Consider the following system of equations:

$$z_i = \prod_{j \in A_i} z_j \quad \text{for } i = 1, 2, \dots, n.$$

Let $Z_1 = \{z_1, z_2, \dots, z_{n-1}\}$ and $Z_n = \{z_n\}$. Then the system can be written as:

$$z_i = \prod_{j \in A_i} z_j \quad \text{for } i = 1, 2, \dots, n-1,$$
$$z_n = \prod_{j \in A_n} z_j.$$

C.S. $\{z_1, z_2, \dots, z_n\}$

$H_j = P_j \cdot Z_j$ $A_j = 1 - 1/Z_j$ $Z_j = 1 - 1/Z_j$
 HPA

1. $Z_j = 1 - 1/Z_j$ $Z_j = 1 - 1/Z_j$
2. $Z_j = 1 - 1/Z_j$ $Z_j = 1 - 1/Z_j$

$N = Z_1 \cdot Z_2 \cdot \dots \cdot Z_n$
 $Z_1 = 1 - 1/Z_1$
 $Z_2 = 1 - 1/Z_2$
 \dots
 $Z_n = 1 - 1/Z_n$

(1) $Z_1 = 1 - 1/Z_1$
 $Z_2 = 1 - 1/Z_2$
 \dots
 $Z_n = 1 - 1/Z_n$
 $N = Z_1 \cdot Z_2 \cdot \dots \cdot Z_n$
 $N = (1 - 1/Z_1) \cdot (1 - 1/Z_2) \cdot \dots \cdot (1 - 1/Z_n)$
 $N = \prod_{j=1}^n (1 - 1/Z_j)$

B.A.P, $I, J, K, L, M, N, O, P, Q, R, S, T, U, V, W, X, Y, Z$
 C, $h, i, j, k, l, m, n, o, p, q, r, s, t, u, v, w, x, y, z$

המילה "Z" היא המילה הראשונה באלף בית.

המילה "Z" היא המילה הראשונה באלף בית.

המילה "Z" היא המילה הראשונה באלף בית.

המילה "Z" היא המילה הראשונה באלף בית.

המילה "Z" היא המילה הראשונה באלף בית.

$$N \cdot y = A \cdot A^T \cdot N \cdot N^T \cdot y \quad N \cdot A$$

$$\begin{aligned} \dot{Z} &= \dot{Z} \cdot Z^{-1} \cdot Z \\ \dot{Z} &= \dot{Z} \cdot Z^{-1} \cdot Z \end{aligned}$$

$M^{-1} N^{-1} = A_1 A_2 \dots N_1 N_2 \dots M^{-1} = A$
 $Z_1 Z_2 \dots Z_n = H, P, A,$
 $1 \dots 1$

$M^{-1} N^{-1} = A_1 A_2 \dots N_1 N_2 \dots M^{-1} = A$
 $A_1 A_2 \dots Z_1 Z_2 \dots Z_n = (A_1 A_2) Z_1 Z_2 \dots Z_n$
 $Z_1 Z_2 \dots Z_n = A_1 A_2 \dots Z_1 Z_2 \dots Z_n$
 $Z_1 Z_2 \dots Z_n = A_1 A_2 \dots Z_1 Z_2 \dots Z_n$
 $M^{-1} N^{-1} = A_1 A_2 \dots N_1 N_2 \dots M^{-1} = A$
 $Z_1 Z_2 \dots Z_n = H, P, A,$

$M^{-1} N^{-1} = A_1 A_2 \dots N_1 N_2 \dots M^{-1} = A$
 $Z_1 Z_2 \dots Z_n = H, P, A,$

Z_1, Z_2, \dots, Z_n are the roots of the equation $Z^n - 1 = 0$. The roots are $Z_k = e^{2\pi i k/n}$ for $k = 0, 1, \dots, n-1$. The sum of the roots is $Z_0 + Z_1 + \dots + Z_{n-1} = 0$. The product of the roots is $Z_0 Z_1 \dots Z_{n-1} = (-1)^{n-1}$.

Let Z_1, Z_2, \dots, Z_n be the roots of the equation $Z^n - 1 = 0$. The roots are $Z_k = e^{2\pi i k/n}$ for $k = 0, 1, \dots, n-1$. The sum of the roots is $Z_0 + Z_1 + \dots + Z_{n-1} = 0$. The product of the roots is $Z_0 Z_1 \dots Z_{n-1} = (-1)^{n-1}$.

Let Z_1, Z_2, \dots, Z_n be the roots of the equation $Z^n - 1 = 0$. The roots are $Z_k = e^{2\pi i k/n}$ for $k = 0, 1, \dots, n-1$. The sum of the roots is $Z_0 + Z_1 + \dots + Z_{n-1} = 0$. The product of the roots is $Z_0 Z_1 \dots Z_{n-1} = (-1)^{n-1}$.

Let Z_1, Z_2, \dots, Z_n be the roots of the equation $Z^n - 1 = 0$. The roots are $Z_k = e^{2\pi i k/n}$ for $k = 0, 1, \dots, n-1$. The sum of the roots is $Z_0 + Z_1 + \dots + Z_{n-1} = 0$. The product of the roots is $Z_0 Z_1 \dots Z_{n-1} = (-1)^{n-1}$.

Let Z_1, Z_2, \dots, Z_n be the roots of the equation $Z^n - 1 = 0$. The roots are $Z_k = e^{2\pi i k/n}$ for $k = 0, 1, \dots, n-1$. The sum of the roots is $Z_0 + Z_1 + \dots + Z_{n-1} = 0$. The product of the roots is $Z_0 Z_1 \dots Z_{n-1} = (-1)^{n-1}$.

- 1) $Z \dots (1 \dots Z_1) \dots$
- Z_f
- \dots
- $\dots Z \dots Z_1 \dots$
- $Z \dots Z \dots$

J. E. D. ...
C. $\dots P, \dots R, \dots P, \dots$

- $\dots Z \dots Z \dots Z \dots$
- A. $\dots Z \dots Z \dots Z \dots$
- $\dots Z \dots Z \dots$

